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Vocabulary:  Misunderstandings

Students sheet

Decide whether a) or b) is the logical continuation of the first sentence
1) She is very sensible

a)
so she will understand why she has to do it.

b)
so be careful what you say.

2) He assisted at the meeting.

a)
I don't know what we would have done without him.

b)
He had a seat in the front row.

3) Pasteur's experience was

a)
on dogs.

b)
very wide.

4) The manager was very annoyed

a)
and nearly fell asleep in the middle of the presentation.

b)
by the speaker's comments.

5) Mary used to work with snakes at the zoo

a)
and she feeds them every day.

b)
but they transfered her to the spider house because she didn't like them.

6) Actually Jones is the assistant

a)
but I thought he was the manager.

b)
but they are going to promote him next month.

7) The location of this office is

a)
less expensive than you would expect.

b)
convenient for the station.

8) Mongolia is a very important country

a)
extending over hundreds of thousands of square miles.

b)
because of its geographical position between Russia and China.

